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eCkf ¢ My sdpPdzg deOjfifisd ded MO dzsisd) §toj Mdzd ¢ Oo OF C
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1. n2dz2S yf:R3§ Rd g:R- RHjJWddedmMOdzj Mk dzO Mmdzj Hj <d daC
f(x)=2x+1, g(x)=3x+5.

1 o<@af)l), (gAf)-2), (fAg)-1). (fAg)a).

Ldhicjr 0o thdtssk HiWddedyd J ftesdLotsHO o]
(gAf)x)=g(f(x), Mmowo *j:

(gAf)(x)=g(f(x)) = g(2x+1)=3(2x+1)+5=6x+3+5=6x+8
N2y

f(x)

4 OH O(gAf)l)=60+8=14 (EBixmlsaaR) ¢ 2 j ¢3s 1)
(gAf)(- 2)=6 2)+8=-12+8=-4 ( &z BjxmlaxR] ¢ 22) j it

1 0 tfpdsiodzdzd yd  j ftsdLotHO ftoj Mdzds O O O  © j:
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1 &x=-1 ° j (fAg)-1)=6& 1)+11=-6+11=5
1 Ox=a * j(fAg)a)=6&+11 1 tod 1y jadgkonst j

2. NzdzS yf:R§ Rd g:R- RHjWdded MOdzj Mk dzO0 Mmdzj Hj <d daC
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